D Y Z+e] 277} B 9p° o1 A}

JJ

P

fite)

i

Hlo

o

~r

<k -
o 1
s i
il wo
T @
_.E._ O_L
X ﬂE
e ~
) —
N o)
W
o o
N Tl
‘o IS
L L
N B0 ,Lv_l
TR oK
X T
© ©)

)




o]zt 2k,
I hztel] ol SRt

9|

o
el
b+

I
—_
1jo

® HAe] o

® tizrel 277} 2ot




Ot

.y
q ]
= ,mo
do N
X
S
CUN
ol T
1mo 7_|
NOX
~ N
ol o
WoOR
= A
o ™
T
o o
T
NN
T T
o ok




AP ABCD ol A £A & o] 51

3

oW A7 17}

L)
1

DABEF

X

i

=
=]

@

@ AteEE

@ A4




Mo

the 8719) A2HE FoA T TzhAle] AR THE Rg S X0l

—1 O
= o
otle A& BfF 12H?

H7
& SR © FYAAY
© AAZE ® "ER
@ A ® AtcheE
ONQNG) 2)®,® ® 0,0,




o3 1% AABCO|A4 DP : PA = BD : A
DC = 3: 20|t} AABP O] o7} 10em?2 ¥

o, AABC 2] Yol=? E
B D C
112 113 125
O —cm? @ Tch ©) Tch
193, 133,
@ T ® - om
5
AABD:10X§ = 2
5 125
. AABC=25%x - = —
3 3




th& 1904 AC//DE ¥ ], AABC = 8cm? ©|t}. oABCD 9]
B o] & atofet.

D

~~4cm-"C>3em”

&)

= cm

| 2
> ®E . 14cm?

S5 ,
AACD = AACEO| B2
oABCD = AABC + AACD
= AABC + AACE
= AABE

(=°]) =8x2+4=4(cm)
(Ho]) =7x4+2=14(cm?)




8.

o2 18 22 HPAHEFE ABCD 9 Wol7l 50cm? ©] 1, AE :
ED =3:2¢ o], AABE 9] Ho]&?

A E__p
B C
@® 10cm? @ 12cm? 3)15cm?
@ 20cm? ® 25cm?

B !

1
AABE + AEBD = §DABCD

1 3
- AABE = —0ABCD = 15(cm?
= 5 DABCD X =5 = 15(em’)




139 JAHE ABCD oA x, y <]

O
)

ot

9.

g

-

ul

x=90°, y=10+2=5cm




10. th& H3PAEY ABCD oA /DAO = 40°

A AD
o]i, /OBC = 50° 4 W, zx+ 2y ©] A71& w
stefet. v

o

c} -
=

| 2
> ®eFl 140°

S5 \
YA ol 22 AD // BC ©]1, /DAO = /OCB = 40° °] 1,
/ADO = /OBC = 50° °]|B2 /AOD = 90° ©|t}.

(AOD = 90° ©]22 gABCD = "t&%0o|1 ABCD & ©]GH
AFZYeo|al, zx = 50° o]t}

webA zx + 2y = 50° 4+ 90° = 140° o]t}




11.

th& 183t Zo] AD//BC Q1 AFtte]E ABCD 4] aADCO = 18 ¥
T, AABC 9] Hol& Fatoiet
(¢h, 3DO = 2BO )

A

\VARR 4
0x
iy

45

S8 ~
AABO = ADCO = 18
¥, 3DO =2BO o|2&
- ABOC = 27
webA AABC = AABO + ABOC = 18 + 27 = 45




12. org a8t e =HATE]|E ABCD oAl AAOD = 9cm? o]t}
AO:0C =3:7¢ ufj, DABCD 9] Y o]& Faloia}.

ADOC = £ x9=21 (cm?)
AOAB = AODCo| B2
AOBC = ; x 21 =49 (cm2)

. OABCD = 9 + 21 x 2 + 49 = 100 (cm?)




